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Section . 5 (Physics)
Two resistors of r
connected in p
ratio of the the
that in 200 01
(1) 1:4
(2)

esistance, 100 ) and 200 0 are
arallel in 4y electrical circuit, The

rmal Cnergy developed‘in 1002 to

1a given time js -

_—

<«
[ 2% I R =N
e 2

0Se processes are adiabatic, i i i
; +1sothermal, isobaric
and isochorjc. The nts

; ‘ curve which re resents the
adiabatic Process among 1, 2,3 a?l?i_*?%?_—
I
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Theratio of the distances travelleq by a freely falling
body in the 1st, 2nd, 3rd 514 4th second :

) 1:3:5.7
@ 1:1:1:1
B 1:2:3.4
@4 1:4:9:16

Given below are two statements :
Statement I :

Biot-Savart’s Jaw gives us the expression for the
magnetic field strength of an infinitesimal current
element (Idl) of a current carrying conductor only.

Statement 11 ;
Biot-Savart’s law is analo

gous to Coulomb’s inverse
square law of char

geq, with the former being related
to the field produced by a scalar source, Id] while
the latter being produced by a vector source, q.

In light of above statements choose the most
appropriate answer from the options given
below :

(1)  Statement I is correct and Sta
incorrect

(2)  StatementIis incorrect and
correct

(3  Both Statement | and Statem

(4)  Both Statement | and St
incorrect

tement IJ is
Statement 1 is

entIl are correct
atement I are

10.

11.
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A body of mass d at a particular pOInt. Ik,

ald i t
o 3'0-:\1 'i‘Vhfetr;,ep;;sitational field intensity at thy,
magnitudeo
point is : . U9K é
(I) 20N/kg - AW \J &
() 180N/kg
()  0.05N/kg ¢
4) 50N/kg

isequal to:
The peak voltage of the ac source 1S :

ource
(1) 2 times the rms value of theacs

ce
(@  1/42 times the rms VaItu of theﬂellz :1(::; :
(3 thevalue of voltage supplied to
(9)  therms value of the ac source

g experiences

. k v
The energy that will be ideally radiated by a 100 ki
transmitter in 1 hour is

(1) 36x105]

2 1x105]
@) 36x107]
4)  36x10¢]

A copper wire of length 10 m and radius
(10~2/ ) mhas electrical resistance of 10 (). The

current density in the wire for an electric field
strength of 10 (v/ m) is :

1) 1075A/m2
@  10°A/m2
@) 10 A/m2
4  10°A/m?2

input frequency is
60 Hz, then the output frequency woulq be:
(1) 60 Hz
2  120Hz
@)  zero
4 30Hz
If a soap

bubble expands, the Pressure inside the
bubble: '

(1) remains the same

2 s equal to the atmospheric Pressure
()  decreases

(4) increases

The ratio of the radius of gyration of a thjp, Uniform
disc about an axis passing through its centre ang
hormal to its plane to the r

adius of 8Yration of f,q
disc about its diameter is:
@) 41,

@7 12
B) 121 -

: (4) 211
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If the initial tension

e on a stretched strine ;
then the ratio of the initial and finalgsls doubled,
transverseé wave along the string is : beeds of a

1 1:42
(2) 1:2
(3) 1:1

@ J2:1

Two objects of mass 10 kg :;nd 20 k

connected to the two ends of a rjg;

10 m with negligible mass. The disgsc?(; t(l)f length

of mass of the system from the 19 kg m ‘?ss he center
: assis:

8 Iespectively are

(1) 10m
(20 Sm
3) 2 m
3
20
(4) -—3—- m

The graph which shows the variation of the de
Broglie wavelength (\) of a particle and its associated
momentum (p) is :

t

A

)

3)

>—>

P—>

A long solenoid of radius 1 mm has 100 turns per
mm. If 1 A current flows in the solenoid, the
magnetic field strength at the centre of the solenoid
is:

1) 1256x10~4T
2) 628x1074T
@) 628x1072T
@ 1256x1072T

3

‘S3

A light ray falls on a glass surface of refractive index
J3 ,atanangle 60°. The angle between the refracted
and reflected rays would be:

(1 90°

@ 120° .

(3 30° ?& {x,

@) 60°

A shell of mass m is at rest initially. Itexplodes into
three fragments having mass in theratio2:2: 1. If
the fragments having equal mass fly off along
mutually perpendicular directions with speed v, the

%@-peed of the third (lighter) fragment is :
M 2v2v

@ 320

@ v

@ 2o

In a Young’s double slit experiment, a student
observes 8 fringes in a certain segment of screen
when a monochromatic light of 600 nm wavelength
is used. If the wavelength of light is changed to
400 nm, then the number of fringes he would observe

in the same region of the screeniis :

1 9

Ly 12 gﬂ/}
5*-*%2
e

@ o

@ 8

An electric lift with a maximum load of 2000 kg
(lift + passengers) is moving up with a constant
speed of 1.5 ms 1. The frictional force opposing
the motion is 3000 N. The minimum power delivered
by the motor to the lift in watts is : (g =10 ms ~2)

(1) 34500
(2) 23500
3) 23000
@) 20000

Plane angle and solid angle have :
(1)  No units and no dimensions
(2)  Both units and dimensions
(3)  Units but no dimensions

(@)  Dimensions but no units

In the given nuclear reaction, the element Xis :

16.

17.

18.

19.

-~
O\

20.

21.
ﬁNa-} X + m— v
. [ ™
14)
%P
3
(4)

22
wNe
22
12Mg
23
11Na

23
wNe
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When light propagates through a material medium
of relative permittivity e_and relative permeability

1, the velocity of light, v is given by : (c - velocity of
lightin vacuum)

'.Ll'
g :
U=
EI‘}LI‘
@) v=c
W n r
D= el o W/
@ :
As the temperature increases, the electrical
resistance : '
¥l)  increases for conductors but decreases for | 28.
semiconductors
(2)  decreases for conductors but increases for
semiconductors
(3) increases for both conductors and
semiconductors
(4) decreases for both conductors and
semiconductors 29.
The dimensions [MLT ~2A ~2] belong to the :
(1)  magnetic permeability
(2)  electric permittivity
(3) magnetic flux
(4)  self inductance
The angle between the electric lines of force an
equipoter_lhal surfaceis: ” 24
1 90° %;
® o N ~J 30.
) 180 o N @)
@ o ,],\! /}, >
(4) 45° u v

NS
Let T, and T, be the energy of an electron in the first

and second excited states of hydrogen atom,
respectively. According to the Bohr's model of an

atom, the raﬁo@
——

B .
M 4:9 ¥z L2
(Q’j/ 9:4 ,.'
@ 1:4 :
@ 4:1

& ﬂlﬂ 1.

(a)
pitd
(b)
(NP ] (N[ P
(c) ad O the potential

I the groen Circun?éa)'bb 3 nctiomre equal 32,
drop across the t

m:

(1y  Circuit (c) only
(2)  Bothcircuits (a) and (€)
(3)  Circuit(a) only
(4)  Circuit(b) only

2 _20 cm each.
A biconvex lens has radii of curvature

-1 of the lens is
If the refractive index of erial 0
1.5, the power of the lens is :

When two monochromatic lights of frequency, v and
-% are incident on a photoelectric metal, their

=

> and Vg respectively.
The threshold frequency for this metal is :

@) %" W_‘O(F ”'Ji)'

stopping potential becomes

0 b 3
U3 2v )
4 3v \

A spherical ball is dropped in a long column of a

highly viscous liquid. The ein the graph
shown, whichrepresents @ e\ball (v) as

a func_t_i_(z_r_l_gf’ﬁme‘(t) is:
o
B D
A
t
A €
@ D
@ A
4 B

The

, i
(1 +5D (,?/’Ve" . @
) +20D ) &4 %% | @
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S (a)-(iii)r(b)-(iv)f(C)-(ii)x(d)-(i)

geaxis as SHOWD i the figure. Th of their
respective velocity is : \ 13 \
: 5
5 v
g g e
g
%‘0 50| &5° 3 S .
time — ¢
. < .\’kv
o ny 3
4 X
Cu g o
A 31 e ’}%ﬁé
A1
Match List - I with List - II:

List-1 List-1I
(Electromagnetic waves) (Wavelength)
(@) AMradio waves @ 107°%m
() Microwaves () 10°m
(© Infrared radiations (i) 1072m
(d X-rays (iv) 10~4m
Choose the correct answer from the options given
below :

lar s
The angu peed of a fly wheel moving wiy 5
] With

1 {)Im an I i

pm to 3120 rpm in 16 seconds

scceleration inrad/s2 js . The angylar
(1) 12
(2) 104 N )
@ 2T oo N
@ AT \ Vézp O
b A\ O’Q
4

A square loop of side 1 m and rec:
Jaced in a magpetic field of 0"5 ,;95;?&;!1::0 10 is
loop is perpendicular to the.dil‘f.'ct.ion‘%}%fl’:',‘w of
_ agnetig}‘

field, the magnetic flux throu gh t]1é_1tl\0p i
: ber e 15| N7 h
(1) 1we 2\ 4 J
9)  zeroweber L/ 9/.5
@ g,V\
@) 2 weber \7"70 W
v‘(,;) ' 0.5 weber Q;i '-\}

NG

The displacement-time graphs of two movin
particles make angles of 30° and 45° with thg

(a) - (i), (b) - (iid), (©) - (iv), (d)- ()

(a)- (iv), () - i), (©)- @ (D-0)
- (iv)

)

)
@  (a)- i) (b)- (@) (O (i), (d)

35,

36.

37. Thevolume occupied by the molecules contained in
5 water at SIP, if the’ intermolecular forces

38.

S3

Two hollow conducting spheres of radii Ry and Ry
(R;>>R,) have equal charges. The potential would

be:

(1)  equalonboth the spheres

(2)  dependent on the material property of the
sphere

(3)  moreonbiggersphere

(4)  moreonsmaller sphere

Section - B (Physics)

A capacitor of capacitance C= 900 pF is charged
fully by 100 V battery B as shown in figure (a). Then
itis disconnected from the battery and connected to
another uncharged capacitor of capacitance
C=900 pF as shown in figure (b). The electrostatic
energy stored by the system (b)is:

+| |+
. +| [+
+1 1+
. 3
(a) (b)
+ —
- _
+ -_—
C
1) 225x107°]
@ 15x107°]
@) 45%x107¢]
@ 3.25x107°]

varish away is :

(1) 56x1073m’ <, N 0
@ 56m3 L,‘@y W’ ¢ Weliie
@) 5.6x10°m3 wez | s £°
@ 56x103m? 8 §< %
Match List - I with List-1I:
List -1 List-1I QLE
(@) Gravitational @ [IAr-9 SN
constant (G) .
() Gravitaional (i) [M7'LPTT W
potential energy _
()  Gravitational _—(iii) [LT—4]
potential -~ i *‘i:’
(d) Gravitational (v) [ML2T~? i
intensity

Choose the correct answer from the options given
below : >

1 (@)- (i), (=), () - (i), (4)- ()

@  (=tiv), (b)- (i), () - (D), () - (iid)

3) (a;jii); (b)- (i), (c) - (iv), (d) - (iii)

(@11, () ), (- (- i)
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A wheatstone bridge is used to delermine the
A A7 S L] =, L i 4 .

of 1.mkn(1\ n resistance .X by adjusting the variable

resistance Y as shown in the fim”-p_ F“I the most

precise measurement of X, the resistances Pand O -
—_ Les LandQ:

value

(1)  should be very large and unequal
(2)  donotplay any significant role
()  should be approximately equal to 2X
A2)  should be approximately equal and are small

The area of a rectangular field (in m2) of length
55.3 m and breadth 25 m after rounding off the value
for correct significant digits is :

(1) 13825 k‘w*‘e
(2 14x102 \‘;5_'}
3) 138x 10l a%: é(/(

b
1382 7
\ <3
Given below are two statemeéents: One is labelled as
Assertion (A) and the other is labelled as Reason

(R).
Assertion (A):

The stretching of a spring is determined by the shear
modulus of the material of the spring.

Reason (R): -

A coil spring of copper has more tensile strength
than a steel spring of same dimensions.

In the light of the above statements, choose the most
appropriate answer from the options given below :

(1)  (A)is true but (R) is false

(2)_  (A)isfalse but (R) is true
. (3)  Both(A)and (R) are true and (R) is the correct
explanation of (A) '
(4)  Both (A) and (R) are true and (R) is not the

correct explanation of (A) .

6

42,

43.

45,
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From Ampere’s circuital law for

of circular cross-section carrying 2 the inside
the variation of magnetic field 1
outside region of the wire is: .on of di tanc®
(1)  a linearly increasing funct© vire a then
upto the boundary of the ¥ dence for the
decreasing one with 1/1 depen
outside region. . tance Up
(2)  alinearly decreasing functloﬂdof:;f‘l a lineary
the boundary of the wire an ogion.
increasing one for the outside T %;r poth the
(3)  uniform and remains constant
regions. ; e upto
(4)  alinearly increasing function of distanc al::ly

line
the boundary of the wire anc_i g

decreasing for the outside region-

cm start
Two pendulums of length 121 cm and 100

eat
vibrating in phase. At some instant, = tw: a]l:l"l'le '
their mean position in the same€ phes horter
minimum number of vibrations Of e 0
pendulum after which the two are againin
the mean position is :

1 10
@ 8
@ 1
@ 9

Two point charges —q and +q are placed at 2
distance of L, as shown in the figure.

*=Cl' +q

. < Ee—e——">
The magni ctric fieldintensity ata distance
R (R>>L) varies as
— -
M = A

L4 | 8

I{ﬁL | 2____ -
) 1 ® ”_;_Lg,ft
(2 RE

1

R2

1
@ 3

A series LCR circuit with inductance 10 H,
capacitance 10 wF, resistance 50 () is connected to
an ac source of voltage, V =200 sin(100 t) volt. If the
resonant frequency of th @cuit is v, and the
frequeniy of t@ SC_’QCZKI_S‘W‘H'EI_{ s

50
ﬁf v0=_Hz;v=50HZ %221%
=100Hz;v = —H
@ v o= Hz ‘gn
3 v,=v=50Hz ,
T Z--MW){
(@ -y = L by

> )6 pEsie
(e @Qﬁj
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A nucleus of mass number 189 splits into
; two nuclei
having mass number 125 and 64. The rati clei | 50. A bigci , S3
of two daughter nucleﬁesgectively is : tio of radius 10 nr% i:“;::al’_mll of 1000 turns and average radi
5:4 J ' rotating about its hori . us
b 2 1zontal
o rad s=1. If the vertical 2" diameter ot
@ 25 .6@—":3 magnetic field at that pl component of earth’s
@), 1:1 ” electrical resistance of thI; a‘C'el ey T and
415 ] coil is 12,56 0,
(@) maximum induced current in the coil will l?:n the
A ball is projected with a veloci 1 1A
al“gie‘ o}f 60° with the vertical dir:.'tg{- 10 ms=1 atan 2 2A
the highest point of its tra; 1on. Its speed at
5 ms—1 trajectory will be : 7 (i) 0IaA
2 10ms—1? \om |3 @106 @ 1oa
() Zero /49—
L s - {
M 5J3 (@ 1 b 4 N ection- A [Chemistry) W
o j: 51.  Given below are half cell reicit’ion;n'.y
X = -
N mfohl +8H'+5e” — Mn?*+4H,0, &
PR Enn?/Mnog = ~1510V mat? 1P *
A I s TN
P > 2+2H"+2e 30 \ SN
¥ | ’ -2 = - /L
o2 Eq % FT V253
295” O,/H,0 =+1223V A
A B 7 "r) Will — . Q’ ’
=t the permanganate io R
g 2 é ) water in the presence of :1:\ Y nOl iberate @om
(1) 1 2 -(1] \’m/ Yes, because E‘;eu = +_-2 733V
: :
2 a
Pl (2)  No, because E};, = —2.733V
) 0 5 3) Yes, because ELoy = +0.287V
0 1 1 4 o
@ 1 0] 0 ()  No,because ¢y = —0.287V
1 1 1 3
Identi i
A B | C = Ver; nhfz the incorrect statement from the following
0 0 0 onisation enthalpy of alkali4
1 0|1 (2)" * Lithium s thesty ; )
\ est[ongest[edu 3
1 1 0 X » the alkali metals. L cing agentamong
A B Alkali m ;
0 0 (1: J?) h)'dic:xtir:ﬁ:sa Is react with water to form their
RS
0 -1 0 : 4 T : a
@ 3.0 |8 @ () The oxidation number of K in KOs +4.
Nl o oxi bR =4
4 en : .
Two tr ' tify the incorrect statement from the following,.
l ansparent media A and B are separated by a (1) Inanatom,all the five 3d orbitals i
plane boundary. The speed of light in those medi energy in f e equalin
3 edia ree state.
are 1.5x 108 m/s and 2.0 x 108 : -
The critical angle for 10° 1rj's, respectively. () The shapes of dy, d,,, and d,, orbitals
e 1o i : . & xy’ ’ orbita
L g ra r‘ay of light for these two media similar to each g{hegz; and dz;_ 2 anda;
(1) tan— 1(0 500) i are similar to each other_\/ o
42 tan-1 (6.750) [a?t/e;;_ '%_:,_, 4 (3)  All the five 5d orbitals are different in
@3 Aoy, 9 (O : when compared to the respective Ad oxb
)  sin—1(0500) @A = K% 3@\- i il :
@)  sin-1(0.750) il wf i | a) All the five 4d orbitals have shapes sim
© & the respective 3d orbitals.
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i P e TOW value of third ionisation
Gadolinium

of
enthalpy because o
(1)  high electronegativity
(2 high basic character
3) small size
(4)  high exchange enthalpy

The IUPAC name of an element with atomic number
15
,'(1.1%9 Enggunnium
(2  ununoctium
U3 ununennium *
(4)  unnilennium )O

Match List - I with List - I

List-1 List-1I
(Hydrides) (Nature)
(@ MgH, ()  Electron precise
(b) GeH, Electron deficient

(<) @mﬂ '/ﬁw)l) Electron rich
@ HE o -t (iv) Ionic
Choose the correct answer from the options given
below :

M @-@) ®)- ) ©- (i), (d)- (i)

@ @- (), (b)- (i), () - (), (d) - )

@) @-), (5)- (), (©)- i), () - i)
@G ()~ (-, (- ()

RMgX + CO, — 9, y _H:0
w =—-'-7‘ ¢

(1)  RCOO-X*

@ moopng O

¥3) RCOO~-Mg*X

P
4 R;CO~Mg*X %9
Match List - I with List-11I.
List-1 List-1I.
(Drug class) (Drug molecule)
Antacids 2 () Salvarsan
(b)  Antihistamine Morphine

(9  Analgesics i iii) Cimetidine
(d)  Antimicrobials (iv)  Seldane

Choose the correct answer

below :
M @-(), (b)-(iv), (<) - (ii), (d) - (iii)
@ (a)-(iv), (b)), (::T—ﬁ), (d)- (i)
@), (@)~ (i), (b) - (ii), (c) - (iv), (d) - (i)
(@)~ i), (b)- v}, (©) - i () - i)

from the options given

N
70 /f}‘w,
D B
. Thein

Orx
Which of the follg

' wing statement is not correct about
diborane ? T

(1) The four terminal Hydrogen atoms and the

two Boron atoms lie in onie plang./
(2)  Boththe Boron at. 2 hybridised.
natoms are sp hy j is
©)

There are two 3-centre-2-electron bonds.

— -

Thi four terminal B-H bonds ai‘_ e two ge;re
two'electrdn bonds. ’ '
/>—’/d']’I

correct statement regarding enzymes is :

(1)  ‘Enzymes are polysaccharides.

(20 Enzymes are vglggeciﬁc for a particular
reaction and substrate. \_~"

(3)  Enzymes are biocatalysts.

M) Like chemicalcﬂ%ﬁs enzymes reduce the

- . — — - e
activationenergy of bio processes.

Given below are two statements : one is labelled as
Assertion (A) and the other is labelled as Reason

R).

Assertion (A):

In a particular point defect, an ionic solid i
electrically neutral, even if few of its cations ar
missing from its unit cells. ;
Reason (R):

In an ionic solid, Frenkel defect arises due t

dislocation of cation from its lattice site to interstiti
site, maintaining overall electrical neutrality.

In the light of the above statements, choose the mo:
appropriate answer from the options given below

(1)  (A)iscorrect but (R) is not correct
(2)  (A)isnotcorrect but (R) is correct

(3)  Both (A) and (R) are correct and (R) is t}
correct explanation of (A)

(4) Both (A)and (R) are correct but (R) is not
correct explanation of (A)
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Which of the following p-v curve represents | 64.

maximum work done ?

—

& F

Isothermal

A

Isothermal

@)

\'

Isothermal X
-

e
X f\f 4

A%

Isothermal

@)
v

63. Given below are two statements:

Statement I:

Primary aliphatic amines react with HNO>

unstable dlazomum salts.

Statement 11:

Primary aromatic amines I
diazonium salts which ares

In the light of the above stateme
appropriate answer fro

(1) Statement I is correct
incorrect.

(2) Statement

correct.
v

“ Both gtatement I and Sta
incorrect.

Both Gtatement Iand Sta

to give

eact with HNO; to form
table even above 300K.

nts, choose the most
m the options given below.:

pbut Statement II is

Iis incorrect but Statement I is

tement Il are correct.

tement II are

(L

65.

66.

s

@) o

v ’
Vi S3
The IUPAC name of the complex - :
[Ag(H0),][Ag(CN) ] is:

(1)  dicyanidosilver(]) diaquaargentate(l) >/~
(2) cIlaquasﬂver( ) dlcyamdoargentate(l)

() dicyanid osilver(Il) diaquaargentate(Il) )d
diaquasilver(II) dl.cwrgentatg(ﬂ)

P

~
Which compound amongst the following is not an
e

aromatic compound f

v

Given below are two statements:

StatementI: w

[
In the coagulatiomijggg?ﬁ‘iﬁlsﬂl' the flocculating

| power of the three given ions is in the order -

AP+ > Ba2t >Na™

. Statement II:

In the coagulation of a £ sitive sal, the flocculating -
power of the three given  salts is 1wrder -
s _ =1

NaCl > Na,SO, > NagPOy  ©7

In the light of the above statements, choose the most
appropnate answer from the options given below :

r "3;

Statement I is correct but Statement II is
incorrect. - i

(2 Statement I is incorrect but Statement Il is
correct.

(3) Both Statement I and Statement Il are correct

(4) Both Statement I and
o Statement II are




63
67"

T with List - 1L
Mat.ch List-Iw s an |
L:stl:.l absorbent for carbon dioxide
((E)) Nla electrochemical cells

) KO (i) coolantin fast breeder reactors
c 3
Ed) Cs (iv) photoelectriccell

Choose the correct answer from the options given
below:

(1) (a)-(i) (b)- (i), () - (iv), (d) - (i)
& (a)- (i), (b) - (i), ()=(d), (d) - (iv)
@) (@)-(v), (b)- () (c)- (i), (d)- (i)
@ (@)-(ii), (b)- (iv), (c) - (ii), (d) - ()

Given below are two statements ; one is labelled as
Assertion (A) and the other is labelled as Reason

(R). ,

Assertion (A): ICl\is;x-lzre r;a?ctive than,.

Reason (R): I-Cl bond is weaker than I-I bond.

In the light of the above statements, choose the most
appropriate answer from the options given below :
(1) (A)iscorrectbut (R) is not correct.

(2)  (A)isnotcorrect but (R) is correct.

W8] Both (A) and (R) are correct and (R) is the

69,
Al
VAL
1P
& ‘\1,&3’1/
Yo \
117

+\%
i

correctexplanation of (A).

(4)  Both (A)and (R) are correct but (R) is not the
correctexplanation of (A).

Amongst the following whi eowill have

maximum ‘lone pair - lone pair’ electron
repulsions ? b B 55
G 8 el &
13
) XeF, Ir 2. %q}vy

() aF, L GRE NS

4 IF L. 22 \S
CONEIIR o
- s

ifa‘frfements i) ¢

Given below are t\\?o
Statement I :

)
( vThe acidic strength of monosubstituted nitrophenol
)

is higher than phenol because of electron

0‘/\\ zg'\-«rithdremring nitro group., ~~

Statemeéntt——

@;ﬁ’ o-nitrophenol, m-nitrophenol and p-nitrophenol will
have same acidic strength as they hav@ro

L
&)

group attachedto the phenolic ringy<) T
In the light of the above statements, choose the most

\;};};ﬂpriate answer from the options given below :

Statement | is correct but Statement I1 is
incorrect,

(2)  Statement 1 is incorrect but Statement IJ is
correct,

(3) Both Statement I and Statement Il are correct.
(4) Both Statement I and

. Statement
HitoTrect. nt I1 are

10

.
71.  Which oneis S not correct mathematical equation for @
Dalton’s Law of partial pressure ? Here p=tota] ™
pressure of gaseous mixture

/d) Pi=X;p, where p, = partial pressure of
it gag 77 ,

qﬂ" M- X;=mole fraction of ith
f K By gasin gaseous
mixture _

) Pi=x; p? » where y.=mole fraction of ith

Lty I
V gas in gaseous mixture

p? =pressureof ith gas 76
in pure state

G)  P=p;+p,+p,

-72.  Given below are two statements :

StatementI:

- The boiling points of the following hydrides of group
16 elements increases in the order -

H,0 < H,S.< HySe < H,Te. e
Statement II: =
The boiling points of these hydrides increase with
increase in molar mass.
In the light of the above statements, choose the most
appropriate answer from the options given below :
(1)  Statement I is correct but Statement II is
incorrect
(2)  Statement I is incorrect but Statement II is
correct 5
c-/(’ST Both Statement I and Statement II are correct 7
(4) Both Statement I and Statement II are
incorrect

SFoE )
73.  In one molal solution that contr:lu’gj"@ﬁde ofa

solute, there is
(1) 100 mL of solvent :
(2) 1000 g of solvent & < :&f I

(3) 500 mL of solvent

A9 500 gof solva \

Choose the correct statement: 5
W Diamond is sp> hybridised and graphite 1s
sp? hybridized™— ~

(2 Both diamond and graphite are used as dry
lubricants. . |
3)  Diamond and graphite have two dimensional

network.

(4) Diamond is covalentand graphite is ionic.
T

e o, p



7z 3 r \"\ 9/0 -
> ¥ 7 R - e
{{:\;ﬁ/’r Ll -~ o é‘g = ":-r‘ \;%}z;j T
mwhuat: Ill}ass of 95 % ure Caco_%?v/l' C;i ‘: r ' 11
alise 50 mI of Will be requis
t ot SME . q ired to 80.
é‘ai;:guowmg r-eactioli ? \I@Iutlon aCCOI'ding -
3(s) 7 2HCI
(‘ — Cl.' C
[Calculate upto S;:(})nd Al (aq) + COyy) + 2H,0,
1) 365g place of der:ima!sgo_mt]
2 950g 2 35 A %‘: N
@ 125 Ca. Jeu F
4 132g ' L‘%\\k/’
o A kg/
76. Which of the f o g 1)#”/(
chlorobeme::e :H0wlng is suitable t;; é’ynthe‘?gxo.
| G e
/q ~ \hbv
) ,HCI \‘{6 o (&
- A
NH, \ %\;,r
@ PN
‘fal
. 4LQ:—
() Benzene, Cl,, anhydrous FeCly {/}7
M Phenol, NaNO,, HCI, CuCl 5 r
| : _
. 77. The pHof the solution containing 50 mL each of
0.10 M sodium acetate and 0.01M acetic acid is
| [Given pK, of CH3COOH=4.57] o-‘ow
.57 o\
' o 45 G 6
| (2) 2.57 b g
| @ 5% ”
| 4) 3.57
£ ing is3 ¢ statement ?
78. Which amongst the fOHOWH’gJS-““emT e 82.
1) Hj ion has one electron-
o3 ionis diamagnetic .
The pond orders of O;: O_z» O, and O3
L/B / »2.5,2,1.5and 1, respectively-
are 2. flecul as four eleC_trons in its two
4) gegg;::erate'“ plecular orbitals.
79, Which statement regarding polymers. 13
A ic
not correct? ymers e capable of
ym .
1) Therfod)pll’,/ﬁ;:ﬂ;mg anc? hlardenmg on
repgate eooling respectwe y. i 5
heating an - Slymers are reusable. i
Thermosetﬂﬂgp - chai held together G
((3 Elas e hameo}lj;clulaiforces. v
. ter
byweaklﬂ mﬂsﬂesﬁengﬂl. 4\ ;
ess e \6

N

&)
first order (y=t, and x= concentration)

Match Ligt -I with List-1II.

List-1I List-1I

(Products formed) (Reaction of carbonyl
compound with)

(@) Cyanohydrin , ()  NH,OH
(b)  Acetal (i) RNH,
(©  Schiff's base_ i) alcohol _
(d) Oxime . ) HcN 7
Choose the correct answer from the options given
below :

(a) - (i), (b) - (iii), (c) - (ii), () - (i)

(1
) (@) (iv), (b) - (i), (=), (d)=-0)
d

) (a)- (i), (5] - (i), (C)r-lii)» (d)-(i)
@ @) - S0 @0 T
Given below are two statements : CL« A wy
Statement I: ""’f"ﬁ -
The boiling points of aldehydes and ketones are f/""
highf_r_Ehan hydrocarbons of com arable molecular
masses because of weak molecular association in
aldehydes and ketones due to dipole - dipole,”
interactions. = 3£ M°
Statement I1: we
f aldehydes and ketones are

' The boiling points 0
Jlower than the alcohols of similar molecular masses

due to the absence of H-bonding,
In the light of the above statements, choose the most

appropriate answer from the options given below :
I is correct but Statement II is

(1)  Statement
; incorrect.
Statement I is incorrect but @iﬁ

@

T
(3) Both Statement [ and Statement ITare correct.
(4) Both Statement I and Statement II are

incorrect.
The given graphisa representation of kinetics of a

reaction. .
Constant temperature T > 0}
W

\%([

X
The y and x axes for zero and first order reactions,

L)

5o~

1/r;;specﬁ\.'ely are
1 zero order (y=rate and x=concentration),
VF"",-

)

first order (y=t,, and x= _c_oncen_raﬁon)
zero order (y=rate and x=concentration),

first order (y=rateand x= t,)>7 -

zero order (y=concentfaﬁon and x = time),
[P

4)  zero order (y=concentration and x=time)
first order (y=rate constant and

\5/- & =concentration)

@%
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The incorrect statement regarding chirality is: Section - B (Chefnistry]
(1) ~ Enantiomers are superimposable mirror 86. Match L.iSt -Twith List-IL.
images on each other. =27~ List-I List-1I
— (Ores) (Composition)
A racemic mixture shows zero optical (@) Hz@|>/<'ﬁ) Fe;04
rotation. ) (b) Magnefite (i) ZnCOj
(c) Cala mine (iii) FeO3
i [Al,(OH) 4 Siy

Sy1 reaction yields 1 : 1 mixture of both

4+ ©
(4)  CuSO,(aq)+Fe(s)y— FeSO,(aq) + Cu(s)

Kaolinite ‘__,_\‘.,——(Iv)
from the options gi

()
Choose'_th/elcc’)r:;;ct answer

&)
enantiomers. v
@) The product obtained by 5 2 reaction of =
e pro uct obtame Y ON reaction O (1) (a);Lu_l), (b)-(i), (C)-(iv), (d)_(ﬂ)
ke i I P R R
s P & (@)-0), ()G, - -6
| 7 @G-, 026 @)
The Kjeldahl’s method for the estimation of nitrogen g7.  Which one of th'e following is not formed w
can be used to estimate the amount of nitrogen in ac_etone reacts with 2-pentan01.E T the presenc
which one of the WOunds ? dilute NaOH followed by heating ?
cH, -Q
NH; 1) /\/L\\-/“\
i y = CH e
3
9 y o 0‘7),9, ﬁ}
\ Cr CH. CH
' % v N7 ’
N=N = M CH, O
@ /4 A o H
a
/!}/‘{C(/O &) /U\/I\
g L H,C 7 CH;
\\
E @
@)
CH; .
7 88. Givenbelow aretwo statements :
@ | D Statement I':

Sy In Lucas test, primary, secondary and terti:
alcohols are distinguished on the basis of th
reactivity with conc. HCI + ZnCl,, known as Lu

At 298 K, the standard electrode potentials of Cu?t/ Reagen- -~
Cu, Zn?*/Zn, 2+ /Fe and Ag*/Ag are 0.34 V, St.:ltement . é
Z(76V, 044y and 080 V, respectively. Primary alcohols are most feactiveand immediat
ora g Gy an . produce urbidiy SO temperatureon react
w Onthe basis of standard electrode potential, predict with Lucas Reagent.
: 1,5' w'{t;cl} of tl;l‘r_: following reaction—' In the lig.ht of the above statements, choose the m
ot (.1 \ éo ( q)"‘_zb_ T . appropriate answer from the options given belo
eS04(aq) + —Z (e ) i
:» n(_s‘)j nS%!(aq) +,Fe-:si '/,(1) iit;;:::cint I is correct but Statement II
2CuS0y4(aq) +2Ag(s) = 2Cu(s) + St Tis
29! ) CuSO,(aq) +Zn(s) » ZnSO p—"
4(&(1)+Cu(s) ]
~ o Q (3) Both Statement I and Statement II are corre
! 4 Both Stat eco
) ement I and Statement II

incorrect.
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\ C A2 By
- c= porCs \ g -
0 gg, % b"\( { 1P . S wgf" \ ¢
; St o2 Wl T a el
“ O Pl :
Ifradmsof 4D ® 13 LT O .o-"",_e‘/}o'fss
second Bohr grbit of tie He *ion is 10
V pm, what is the radius 2’1; {3 Bokyr orbit 15f gf 95. Copper crystallises in fcc unit ceﬁ w1th cell edge
ion? q) rol OAL‘; length of 3.608 X 10-8 cm. The density of copper is
(1) 1.587 pm %V 'ﬂ“} AR .p&r %, 8.92gcm -3_ Calculate the atomic mass of copper.
(@ 1587 A jé.ﬂr,»,a’“' \ :%z,',,ﬁ < (1) 60u g
+ /-" A h
;ﬁf 158.Z pm \(‘ft v \714 b Yy, (2) 65u ) " %r&
) TS pm  \Q- m{‘? 7t @ 31u 27 o
o & \ "o 48 @4 3155u v
; 10.0 L flask contains 64 g of oxygen at 27°C.
(Assume O, gas is behaving ideally). The pressure The pollution due to oxides of sulphurj_gets
inside the flask in bar is enhanced due to the presence of :
(Given R=0.0831 L bar K-1mol™1), 4 +3 ﬁ’ (a) = particulate matter
1 498 Ab< w + /DD.T (b) ozone i
\/&1 4.9 fx T TR (o) hydrocarbons _
@ 25 ~ L’ (d  hydrogen peroxide v
(4) 4986 - /‘0 /. Choose the most appropriate answer from the
91. Find the emf of the cell in which the following options given below:
reaction takes place at 298 K @ (b)©) (d)only
Ni(s)+2 Ag*+ (0.001M) = Ni2+ (0.001 M) +2Ag(s) o)) @, © ,(d) only
(Given that Ecy =105V, 2303RT _ 959 at @ () (donly
S iy F S ) (@), () (Donly
- ] .
0.9615V " Sasr a"\Jo%? 5 97. The product formed from the following reaction
@ 105V Giine @ %,;SJ.“ SRy sequence is
@ 10385V _4;‘;/,; 2 g I et M -
@ 1385V P \0/-"{5 ke (i) LiAlH,, H,O
% (i) NaNO, + HCl
92.  Thecorrect JUPAC name of the following compound Sl e
is’ (iif) H,O
cl OH \
1 .
A3 a
1y 1- bromo-4-methyl-5- chlorohexan-3-0l
2 6 promo-4-methyl-2- chlorohexan-4-ol OH
43]  1-bromo- -5- chloro-4—merhzl_ll_e_;_@,n_§_gl \ﬂ)
“4) 6 bromo-Z—clﬂoro—tl-methylhexan-Al -ol
In the neutral or faintly alkaline medium, KMnOy
oxidises iodidei lodate The ch___g_m oxidation 5 NH
state of man anese this reaction is from 3) 2
) +_7_'_§o +3 ma”
() +6to+5 1*%.909 ® O
@ Ztotd ok N,Cl 5
@ +6tot+s P LAY _ )ﬂ'fcﬁé

9. 30,(g) = 205(8) /|98 Com "

' for the above reaction at 298 K, K, is found to be H Opound X on reaction with O, followed by Zn/
3.0x 10~ . If the concentratlon of O, atequilibrium 20 gives formaldehyde and 2-methyl propanal
is 0.040 M then concentratlon of O inMis |- products. The compound Xis: a8
@ 24x10% e 3, ;o éz(" (1)  2-Methylbut-2-ene . P,

ég){ 1.2x10 1?°32 / kbb\ (2) , Pent-2-ene acMD oL =
(045 —C:
4 L 9 -3 (1 /} K’ M‘Q @ 2 Methylbut -1-ene ; &:f 1 (M

/ %’TP Al L’w\,,t“/ QuAT < ﬁ ‘ﬁ-’”w’
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; '1.70 5’ ’}ﬁ 'os o0 r 17 Ll B
53 7 G wt s @*0-X 14 AN g
. . it i f th following statement ;s pot frue
first order reac jon A I’roducts, mllml 103. which oné i pot —=——
99- fg;czngﬁ’f Ais0: M which pecomes 0.001 M regardin® g | electr©@ oresis tech que’
after 3 minutes: Rate cm@mt for the reaction ;11 . ,@f The presence of chromogemc su pstraté gives
min—l is sl o Fp N 4 plue colo red DNA pands o the gel-
(1) 0.4606 . 77" v,go'/, u“-'\ 'd ‘ 2 Brightorange col ared pands of DNA can be
@) 0.2303 of M F it : + ; 5 Ap pserved inthe {when exposed to UV light
3) 13818 AR ® 3) The proce®® of action of sepal ted DNA
0.9212 = v, i
- i *"'.,y\"’ - strand$ fro 1 called elution:
00. Th order ofenergy absorb d which is responsxble ( 4) The seP syt NA fragm stained y
for the color of ¢ lexeS  oN* LyR sing € d promide
) [1\“(}{20)2(@“)2:12;r A2 M
®) [Ni(I—IZO)4(en)] nd 7 (&é” : 104. EXO keletont of arthropods composed 0
© [Ni(eﬂ)3]2+ - & ,A—; . ' Chitin
is ek 19,7 :
./('{{ (C)?(A)?(B) kG 7. o " o’:q_,, &;‘t 1 @ Glucosam'™
& @3 g ! o v
©) A)” (B)?(C) 2 A%y L9 @ Cellulose
0 e ® 0
gection A(B ology otany) q 105 Match List- [wi List- |
j01. Inold T greater Pt I L sl
. Ino s the gred er part© secon ary Xy em iS : ,
Jarkbro resistant t inséct tack due il (a) Manganeie' (0] Activates the enzyme
@ ° retion Of S ondary etabolities and the ' catalas \
" jeposmon o lumen of vesse (b) - M gnesim‘n ii) Reqmred for pollen
eposition 0 cc ounds e tannins ennmatlon
andresinS' the central lpyers of s ( B \ i .
© depositiol ub d : % o () Aciyat enzy > a
ubstance uter lay rol}'ste romatlc : eSPirano
(d) epositi annins, um es;in & @ Iron iv) Functions in pﬁtﬁng £
ar omatic$ es in Pheral Jayer : water during
& of stem- ph tosYnthesls
o  presenc of parenchy™? ¢ 1ls Choose the €© ect ansW :
active xylem slementsand Essénﬁ::f :i?:aﬂy pelow: er from the OF tions giver
Choose the correct ansWer from tl i . ' :
below: 1e options given ¢y (a)—(lv), (b)- (@) (c - (i), (d)-(m)
@ @ and (€)O 2) - (iii), (P) - i :
@) (yand Efi)} oy (3; Eaiﬁm) ((:) P )60 ) ).
G (@and @O e i) )-(i¥), -0 (d) - (i)
@ © and (d) Only / (@)- @) (b) - (iid), (©) }u) -0
102, Readthefoll - 0 ;
it st;:e ;‘:::E_smeﬂlents nd choose the it ; g;\IA I::IYmorphlsm forms the basis of
(@) Fuchro 2 oth Beﬂetic m .
(b) Hetero::];?::;lst_:l??sely packEd Chromaﬁn “ prlnt]ng ﬂpplﬂg ﬁrld DNA finger
@ Hi a is transcription g 2 LT ] g
: hl:tone octomer is wrapp;ed b alee ! rafislAGOR
@ Hﬁigﬁ:szllA ,mh““‘:leosc)me y negatively /?) Genetic mapping
: rich in lysi _ 4 :
© g I\gfllg;lx nucleosmizu:;z?a‘} r?ral(r]\me v’ ) DNA finger printing
Choose th s 400 bp of Th . ,rgkf
belo(::r;2 « correct answer from the opti to :e gaseous plant growthre
M  ®).@0O° e options given A ' .glllatgr isusedi
5 a), (c) (€) Only @ < ercome apical d =4l
r/({ (b), @ (e) Only ' ) kill diCUtyle d ominance
) (@, (d)On! @) onous weeds i
(d) Oy speed eds in the fi
4 A up the maltin e fle]dyd
] promote root g process ¥/
to increa grOWth a.nd
se the absorpti roothair
rption surf formation
X ace
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Given below are tW0 statements:_ @ A1 . s3
rﬂ,‘,@ 3,/) Which one of the followin i
Statement I: \ v nodules on the roots of Afg vt :
The primary C0, acceptor _“‘TCJ plants is (1) Rhodospirillum =
[pyruvate and 18 ound in the i 7
phosphoen 0I py (2)  Beijernickia o
mesophyl cells W) Rhizobium
Statement II: . ) Frankia
Mesophyll cells of Cy plants Jack Rg_'@f_?_‘_’ enzyme.
Inthelightof the Jbovestatements: choose the correct 114, Which one of the following statements canndt be
answer from the tions given below ; CO"nEC];e(:h to ttf’redaﬁOn 3 =y
: i 0 i : .
(1 lsntca;:rr:;nt I is correct but gtatement 11 15 ilnpacteii_ mifracnng species are negatively
yg/)/ Statement I is incorrect but Gtatement Ilis (2 Itis “‘f_ceSSitﬁtEd by nature to maintain the
correct ecological balance v~
(3) Both Statement1 and Statement [l arecorrect @) if)lﬁjx?tymmta%@?g ?PECiES diversity ina
tement II are T I
4) i';fz;l:r;a‘cttatement I and State &{A) It ‘éﬁ hfiwm}“ i
' . g 115. The device which can remove particulate matter
109. Habitat Joss and fra entation, OVer exploitation, :
alien species mvasioin;nd co-extinction are causes pr esentin the exhaust from a thermal power plant
for: B ) .
Biodiversity 1055 ,(() Electrostatic Precipitator
o Natality 2) Catalytic Convertor
©) Population explosion () STP
(4) Competition @ Incinerator
110. Production of Cucumber has increased manifold in 116. Ideptif}f the incorrect statement related to
recent years. Application of which of the following Pollination :
phytohormones has resulted in this iqcreasedj_igl (1)  Flowers produce foul odours to attract flies
as the hormones known {0 prod__u_ce_fe_m_/eial lowers and beetles to get pollinated 1
. Eleﬁl@w‘ A Moths and putterflies are the most dominant
(\/(i) Ethylene pollinating agents among insects
() Cytokinin # (3  Pollination by water is quiterarein flowering
(3) ABA plants o
€ Gibberellin ¥~ (4)  Pollination by wind is more commonamongst
, abiotic pollination
111. The appearance of recombination nodules on i
homologous chromosomes during meiosis /y Which one of the following plants does not show:
characterizes : plasticity ? 3
1) SGites at which crossing over occurs (1) Buttercup A |
[¢] Terminalization X 42" Maiz N
9] Synaptogemalcom lex %) Cotton
(4) Bivalent (4)  Coriander
112, i Jlowin @ method of ex sit
g::;lrlvr;iitil:?fo owing thod of ex sifu | 118. What amount of energy is released from glucose
\f{) " G gaton during lactic acid fermentation?
zcropropa (1) b £10
2 Cryopreservation LPE/;;“& %;%
@) Invitro fertilization v 8  App a.n i
. roximate
. nal Parks ¥ Y
l@ NW : g (4)  Morethan18%




i

s3 16

119 #Girdling Expenment’ was performed by Plant

Physiologists to identify the plant tissue through |

which::
(1)  forboth water and food transportation
(2)  osmosisis observed
(3)  wateris transported
W)  food is transported

120. Which one of the following plants shows g(éc_illary
aestivation and diadelEhous stamens ?
— '

(1)  Alliumcepa
(2 Solanumnigrum
(3)  Colchicum autumnale

tA4)  Pisum sativum

121. Read the followmg statements about th@
Jbundles)

@ In roots, xylem and phloem in a vascular
bundle are arranged in an alternate manner
along the different radii. .-

()  Conjoint Elosed vascﬁlar bundles do not
possess cambium .~

(6 Inopenvascular bundles, cambium is present
in between xylem and phloem _-

(d) Thevascular bundles of dicotyledonous stem
possess endarch\protoxylem e

e In monocotyledonous root, usually there are
more than six xylem bundles present | ~

Choose the correct answer from the options given
below : \

1)  (a), (b), (c)and (d) Only
) (@)(9)(d)and (€ Only v

@ (@) (b)and(d)Only
@ 0O @ad@Only Y .

122. Which one of the following never occurs during
mitotic cell division?
(1)  Pairing of homologous chromosomes

\./(/zj'

(3) Spindle fibres attach to kmetochores of
chromosomes

Coiling and condensation of the chromatids

4) Movement of centrioles towards opposite
poles

123.  Given below are two statements :
Statement I :

Cleistogamous flowers are invariably autogamous
Statement I1: =

Cleistogamy is dlsadvantageous as there is no
chance for cross pollination

Inthelight of the above statements, choose the correct

answer from the options given below :

(1) = Statement I is correct but Statement II is
incorrect

(2)  Statement I is incorrect but Statement I is
correct

‘k{) Both Statement I and Statement Il are correct

(@)

Both Statement I and Statement II are
incorrect

124. Identify the correct set of statements :
() The leaflets are modified into pointed hard

thorns in Citrus and Bougainvillea-

(b) . Axillaty buds form slender and spirally coiled
tendrils in cucumber and pumpkin.~

() Stemis ﬂatféﬁéa_andrﬂesﬁ'y in Opuntia and
modified to perform the function of leaves

(d)  Rhizophorashows vertically upward growing
roots that help to get oxygen for respiration

(€)  Subaerially growing stems in grasses and
strawberry help in vegetative propagation

Choose the correct answer from the options given

below :
(b), (<) (d) and (¢) Only v

@ (@) ) (dand(e)Only

@) . (b)and () Only

4)  (a)and(d)Only

125. XO type of sex determination can be found in:
A1) Grasshoppers

(2) Monkeys
(3)  Drosophila
(4) Birds

126. Hydrocolloid carrageen is obtained from:
Rhodophyceae only
(2)  Phaeophyceae only

(3)  Chlorophyceae and Phaeophyceae

(4)  Phaeophyceae and Rhodophyceae

127. Which of the following is not observed during

apoplastic pathway ?
(1)  The movement is aided by cytoplasmic
streaming

(2)  Apoplastis continuous and does not provide
any barrier to water movement, L~

(3) Movement of wate{;’gc,u;s__khrough
intercellular spaces and wall of the cellsv
V@f The movement doés not involve crossmg of
cell membrane
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1‘?3. Given be .
low are two statements : one is labelled as | 131. Given below are two statements :

gts}sertion (A) and the other is labelled as Reason StatementI:
) Mendel studied seven pairs of contrasting traits in
Assertion (A): pea plants and proposed the Laws of—I_n_]lt_e_r_i_t_,a_nce
Statement I1:

d by Mendel in his

Seven characters examine
pea plants were seed shape and

Polymerase chain reaction is used in DNA
' experiment on

amplification
Reason (R): colour, flower colour, od shape and colout, flower
position and stem heighf < -
choose the correct

In the light of the above statements,

eisusedasa selectable
answer from the options given below :

The ampicillin resistant gen

marker to check transformation - _

In the light of the above statements, choose the correct ‘ﬁj ?tateme:lt Waggarect bt StaemEny LS

answer from the options given below : T .
2 Gtatement I is incorrect put Statement II is

correct

(3) Both Statement I
Both Statement I and Statemen

and Statement II are correct

) is not correct
t II are

1 (A)is correct but (R

(@ (A)isnot correct but (R) is correct @
incorrect

w Both (A) and (R) are correct and (R) is the
correctexplanation of @) @ What is the net gain of ATP when each molecule of
,\(}Y Both (A) and (R) are correct but (R) is not the glucose is converted to two molecules of pyruvic
correct explanation of (A) acid ? 2 S\P
. 1) Two i b (>

(2) Eight

129. Whichone of the following s BOEIFUL regarding the
release of energy during _ esis through g 15'*'?11:
: . ix

chemiosmosis ? Itinvolves: _
1) Movement of protons across the membrane 133. Given below are two statements :
to the stroma ‘ j Statement I:
Decomposition is a process in which the detritus is
i NADPH, on the p
)  Reduction of NADP to 2 degraded into simpler substances by micr b
i embrane %y 008y
stroma side of the e Statement IT:
3) Breakdown of proton gradaent Decomposition is faster if the detritus is rich in lignin
) and chiti : ===
wn of electron gradient i
A@/ Breakdo In the light of the above statements, choose the correct
> answer from the options given below :
130. Theflowers are g@ljﬁﬁm in: (1)  Statement I is correct but Statement II is
tﬁ*‘; incorrect
S ' (2)  Statement I is incorrect but Statement Il is

{LPM correct

\3Y BothStatementIand Statement Il are correct

15 i @ !30th Statement I and Statement II are
incorrect
Chill 134. The_ process of tramlatioLc)@N’)\ to proteins
(L‘) /_E ti . begins as nas: . ’
rrect answer from the options given @ B A
Choose the €0 oth the subunits join together to bind with
below : mRNA -
@ (@ oY ()  ThetRNA isactivated and the larger subunit
of ribosome encounters MRNA :
@ © (d), (©) Only (3)  The small subunit of ribosome encounter
@ @00 d S
' 3 ' (4)  The larger subunit of ribos
Y O (c) Only mRNA ome encounters
gl
|

 — R ——
P
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<135. Whichof the following is incorrectly matched ?
(1)  Porphyra - Floridian Starch i T
ﬁ(&) Volvox - Starch V" ();’7)
V)

Ec_focallins - Fucox_anthin
( Ioti_t X' - Mannitol

"=

A

X Py

Section - B (Biology : Botany)

136. Given below are two statements : one is labelled as
Assertion (A) and the other is labelled as Reason

(R).
Assertion (A):

Mendel's law of Independent assortment does not

hold good for the genes that are located closely on
the same chromosome. :

Reason (R):

Closely located gened ass}b independently. -
In the light of the a;Bove statements, choose the correct

answer from the options given below :

(1)  (A)iscorrect but (R) is not correct

(2)  (A)isnotcorrectbut (R) is correct

(3)  Both (A) and (R) are correct and (R) is the
correct explanation of (A)

(4)  Both (A)and (R) are correct but (R) is not the

correct explanation of (A)

Which part of the fruit, labelled in the given figure
makes it a false fruit? '
a false

V(XI C — Thalamus
(2) D—Seed
(3) A - Mesocarp
(4) B— Endocarp

38. Which one of the following will

accelerate
phosphorus cycle ? '

\/6) Weathering of rocks

(2 Rain fall and storms
(3)  Burning of fossil fuels
(4)  Volcanic activity

Cl\_I__(_;_ from diesel. In reference to this, which one of
the following statements'is filse?

(1)  Itis cheaper than diesel A~

(2)  Itcannotbe adulterated like diesel"
V(? CNG burns more efficiently than diesel ~~

4)

The same diesel engine is used in CNG buses
0/ Whatis the role » of large bundle shealth cells found

making the cost of conversion low
around the vascular bundIgfn C, plantsArt -
&Q/ o enable—the—plant to tolerate high

temperature

(2)  To protect the vascular tissue from high light
intensity

(3) To provide the site for photorespiratory
pathway

(4)  Toincrease the number of chloroplast for the

operation of Calvin cycle

,JAﬁ. Transposons can be used during which one of the

following ? .

(1)  Autoradiography

(2) Genesequencing

(3)  Polymerase Chain Reaction

‘/(A) : GWnc%ng
2. Which of the following occurs due to the presence
of autosome linked dominant trait ?
(1) Haemophilia
(2) Thalessemia
(3)  Sickle cell anaemia
4)  Myotonic dystrophy

143. Match List - I with List-II.
List-1 List-1I
(a) Metacentric (i) Centromeresituated close
chromosoine to theend forming one
extremely short and one
very long arms
(b) Acrocentric 2\(ii) Centromere at the terminal
chromosome end -
(c) Sub- ~ (ili) Centromere in the middle
metacentric forming two equal armsof
chromosomes
(d) Telocentric  (iv) Centromere slightly away
chromosome from the middle forming
one shorter arm and one
longer arm
Choose the correct answer from the options give"
below :
1) (@)- () (b)), () - (iv), (d)- (i)
@  (a)-(), (b)- (i), (c) - (iii), (d) - (iv)
A @) 0)-0),(9- (i), (d)- (i)
@  @-0) (b)- (i), ()- @), (d)- (iv)



144. Read the followi
owing state - :
out correct set of stgternex?:se:n ki hplds SirteL My

(@)  Lecithin found in th
glycolipid e plasma membrane is a
(b)  Saturated fatty aci :
id
R tty S possess one Or more
(© Gingt?ly oil ITaS lower melting point, hence
remains as oil in winter
(d)  Lipids are generally insoluble in water but
soluble in some organic solvents
()  When fatty acid is esterified with glycerol,

I

146.

S— T =

monoglycerides are formed

Choose the correct answer from the options given

below :

(1) (o) (d)and(e)only

@ (a) (b)and(d)only

@) (a) (b)and(c)only

@  (a) (d)and (e)only

Addition of moﬁa_s_g!:;é‘s in a given solution will :

[}

make its water potential zero X

@)
2
(&)
22
Match the plant with t
exhibits :
List-1I
(a) Spirogym™ (

not affect the water potential atall {Q
'l

raise its water potential éx
Jower its water potential AR @ :

he kind of life cycle it

List-1I ﬁd%@

i) Dominant di loid sporophyte
vascular plant, with highly
reduced male or female

ametophyte
gametophyte____

L

Fern ¢
®) etophyte
© Funaria - (i) Dominant diploid sporophyte
alternating with reduced
gametophyte called pfo,t}ﬁllus
) Dominant haplbid leaf
(d) Cycas ( ) ameto yte a ternaﬁngsmkv‘l%
partially ' dependent
multicellular sporophyte
Choose the correct answer from the options given
below: : }
(iv), (©) - () (D)~ (i)

(a) - (ll-l)f (b) =

(i) Qgg&ant_;}aploid free-living
: HeeSving |

1

v

149.

150.

(1)
@ @-0 (b)- () ()~ @, (d)- (?1.)
@ @- (b)- (@) (©)- (i), (d)- (uf)
@ (-1 (b) - (i) (©) - @), (@-@

9
o

S3

While explaining interspecific interaction of
population, (+) sign is assigned for beneficial
interaction, (—) sign is assigned for detrimental
interaction and (0) for neutral interaction. Which of
the following interactions can be assigned (+) for
one species and (—) for another species involved in

the interaction ?

(1) Commensalism
2 Competition
M Predation -t ~
Y] Amensalism

lindromic base sequences of

In the following pa
be cut easily by particular

DNA, which one can

restriction enzymie ?
1 5 CTCAGT3; 3¥GAGTCAY
(3] 5GTATTC3; 3’CATAAGY

5GATACTS3; 3’CTATGAY

3)
5 GAATTC3; ¥CTTAAGY

vl

If a geneticist uses the blind approach for sequencing
the whole genome of an organism, followed by

assignment of function to Wms, the
im iscalled as:

methodology ado d by

(1) “Expressed sequence tags ~
(2)  Bioinformatics

©)
(4)

The anatomy of springwood shows some peculiar
features. Identify the correct set of statements about

springwood. :

Sequence annotation ,/

Gene mapping

(@) Itisalso called as the earlywood

(b)) Inspring season cambium produces xylem
elements with narrow vessels

(©  Itislighterincolour '

(d)  The springwood along with autumnwood
shows alternate concentric rings forming
annual rings

(¢)  Ithaslower density

Choose the correct answer fr i
e er from the options given

(1) . (a) (b)and (d)Only
@ () (d)and(e) Only
3)  (a) (b),(d)and (e) Only
4 (@) (c)(d)and () Only

e ——
_‘—-—.——h———“ﬁ“
—h
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Section - A (Biology : Zoology)

i i tatements are true
1. Which of the follqwmg s
= for spermatogenesis but do not hold true for

Oogenesis ? ;
(@) Itresultsinthe formation of haploid gametes ’
() Differentiation of gamete occurs after the

completion of meiosis v

Meiosis occurs continuously in a mitotically
dividing stem cell population

It is controlled by the Luteinising hormone
(LH) and Follicle Stimulating Hormone (FSH)
secreted by the anterior pituitary" '

(e) Itisinitiated at puberty v

Choose the most appropriate answer from the
options given below :

©
d)

(1)  (b),(d)and (e)only
4 (b),(c)and (eLonly
(3 ()and(Qonly
4) (b)and(c)only
Given below are two statements :
Statement 1:

Fatty acids and glycerols cannot be ‘absorbéd into_|

the blood.
Statement I1:

Specialized lympl:‘:glc capillaries called lacteals
carry citylomicrons’into’ lymphatic vessels and
ultimgfely into the blood. =

In thé light of the above statements, choose the most
appropriate answer from the options given below :
(1)  Statement I is correct but Statement II is
incorrect .
Statement I is incorrect but Statement II is
correct

Both Statement I and Statement Il are correct
Both Statement I and Statement II are
incorrect

153. Breeding crops with higher levels of vitamins and
minerals or higher proteins and healthier fats is
called :

)  Bio-fortification

(2) Bio-accumulation
(3) Bio-magnification
(4) Bio-remediation

154, Inan E.coli straini gene gets mutated and its product

can not bind the inducer molecule. If growth

medium is provided with lactose, what will be the
outcome?

(1)
@)

@)
A

z,y, a genes will not be translated

RNA polymerase will bind the promoter
region

Only z gene will get transcribed

z, Y- a genes will be transcribed

P

155. Which of the following is_present between the

a(}j_@b_oqg&@_@_ebmlcol mn?

(1)  Areolartissue Lﬁyﬁ}r
(2)  Smooth muscle

v(3) Intercalated discs” * Lo

J@ Cartilage

156. Given below are two statements:
StatementI:
Autoimmune disorder is a condition where body

defense mechanism recognizes its own cells as
foreign bodies. '

Statement I1:

Rheumatoid arthritis is a condition where body does
not attack self cells.

In the light of the above statements, choose the most
appropriate answer from the options given below :

A1)  Statement I is correct but Statement II is

incorrect
(2)  Statement I is incorrect but Statement ILis
correct
(3) BothStatementIand Statement Il are correct
(4) Both Statement I and Statement IT are

incorrect

G

At which stage of life the oogenesis process is

initiated ?
yd)  Birth
(2) Adult
(3) - Puberty

A

158. Select the incp_rf@statement with reference to

Embryonic development stage

mitosis :
> ..-"'---—
(1) Chromosomes decondense at telophase.
(2)  Splitting of centromere occurs at anaphase«
(3) _ All the chromosomes lie at the equator at
metaphase.. viug bo
/4) Spindle fibres attach to centromere of
k chromosomes.
159. In-situ conservation refers to:
aA1) - Conserve only endangered species
gp (2  Conserve only extinct species
— - (3) DProtectand conserve the whole ecosystem
(4)  Conserve only high risk species
160. )Which of the following function '/_ Jnh erformed
by secretions from saliva Pssae”
(1)  Lubrication of oral cavity "
2)  Digestion of disaccharides
(3)  Control bacterial population in mouth v’
4y  Digestionof cwh}rdrates
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166l Given below ar : 1 ﬁs
X e two statements : one is labelled as | 164. Tegmina in cockroach, arises from: v C)M

162. Given belo

Assertion (A) and the other i
is labelled as Rea
(R). 2en W) Metathoraxr/”*
Assertion (A): (2)  Prothorax and Mesothorax p‘! '
Osteoporosis is characterised by decreased bone (8)" Prothoraxy
(4)  Mesothorax

mass and increased chances of fractures. “~
h__'—'_'_'_'_,_l—-'-— X

Reason (R):
Common cause of osteoporosis is increased levels
ofestrogen.

—
In the light of the above statements, choose the most
appropriate answer from the options given below :

165.

Given below are two statements : one is labelled as
Assertion (A) and the other is Jabelled as Reason

(R).
Assertion (A):
All vertebrates are chordates but all _chordates are

not vertebrates.

(1) (A)iscorrect but (R) is not correct
2 (A) is not correct but (R) is correct Reason (ﬁ)ﬁ
Notochord is replaced by vertebral column in the

Both (A) and (R) are correct and (R) is the
correct explanation of (A)
Both (A) and (R) are correct but (R) is not the
correct explanation of (A)

o)
54
w are two statements :

Statement 1:

The coagul win is formed Ofn_etW_O_l'h,—()f threads called

adultve rte_brates/
In the light of the above statements, choose the most
appropriate answer from the options given below :
(1)  (A)iscorrect but (R) is not correct
(2) (A)isnot correct but (R) is correct
)@ Both (A) and (R) are correct and (R) is the
_ correct explanation of (A)

)  Both(A) and (R) are correct but (R) is not the

thrombins-
Statement I1: . correct explanation of (A)
Spleen s the graveyﬂ_f_gry_@tes../
In the light of thé above statements, choose the most 166. Nitrogenous waste is excreted in the form of pellet
appropriate answer from the options given below : or paste by :
(1) Statement I is correct put Statement II is (1)  Hippocampus

incorrect M Pavo
) Gtatement 1 is incorrect but Statement II is ()  Ornithorhynchus

correct @)  Salamandra
(3.)/ Both Statement I and Statement 11 are correct
4 Both gtatement I and Statement II are 167. A dehydration reaction links two glucose molecules
=i correct 1 to produce maltose. If the formula for glucose is

A CgH;,04 then what is the formula for maltose ?

. ate
Given below are two statements (1)  CyoH201q C 1)" e S
gtatement I: . 'than 1 micron 2 CypHyOqq [ o
an1lm
Mycoplasma can pas? through 1€s? oo @) Ci2HzO10
filter size. ) Crolli 045
Statement I1: ; .
M Jasma are pacteria with cell wall 29 168. Begardmg Meioﬂgiﬁ_s.,_\ which of the statements is
e tements, choose the most incorrect ? S :

below :

_——'-_ o
Pairing of homologous chromosomes and
recombination occurs in Meiosis-I .

X

: t
tement 1 i5 €OT7€C :
- ?,t;o:rect (2)  Four haploid cells are formed at the end of
; tement 15 jncorrect put Statement II'is Meios-i_s’-[[ Wk

e
(2) co:rect (3)  There are two stages in Meiosis, @Dsis ;
) B thStatementIand Gtatement Ilare correct ShdIl .

o
nd Statement IT are &) DNA replication ;

/gi/ Both statement 1 2 Meiosis-np occurs in S phase of

incorrect
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169. Under normal physiological conditions in human

170.

171.

being every 100 ml of oxygenated blood can deliver
ml of O, to the tissues.

(1) 4ml
(2 10ml
B 2ml

A 5ml

Given below are two statements :

Statement I:

The release of sperms into the seminiferous tubules

is called spermiation, X et

Statement I1:

Spermiogenesis is the process of formation of sperms

from spermatogonia. ’

In the ]jght_of the above statements, choose the most

appropriate answer from the options given below :

(1)  Statement I is correct but Statement II is
incorrect

[};)' StateWrreqt but Statement II is

correct
(3) Both Statement ] and Statement Il are correct

(4) Both Statement I and Statement II are
incorrect

In the taxohomic categories which hierarchial

arrangement in ascending order is correct in case of

animals ?

(1) Kingdom, Order, Class, Phylum, Family,
Genus, Species

‘g‘? &E\9'(2) Kingdom, Order, Phylum, Class, Family,

: 3

172.

Genus, Species

,@)/ Kingdom, Phylum, Class, Order, Family,
Genus, Species’ ; -

(4) Kingdom, Class, Phylum, Family, Order,
Genus, Species

Identify the microorganism which is responsible for
f an immunosuppressive molecule
: -

the productiono

cyclosporinA: ' > e

(1)  Aspergillus niger o

(2)  Streptococcus cerevisiae w"*“

3y  Trichoderma polysporumt * <

(4)  Clostridium buh_ﬂicmnﬁd N

173. Lippe’s loop is a type of contraceptive used as :

,ﬂ/)- . Non-Medicated IUD
(2) Copper releasing IUD .
(3) - Cervical barrier
(4)  Vaultbarrier

D

22

174. If the length of a DNA molecule is 1.1 metres, what
will be the approximate number o asee}’at;!s ?

(1) 3.3x106bp e
(2) 6.6x10°bp

Koo
43  33x10%bp 2 e Q:_._.
@)  6.6x10°bp 1) 23.3

175. Detritivores breakdown detritus into smaller

I:Ezticles. THis process is called :
(1)  Humification
(20  Decomposition
(3) Catabolism
L(gla/ Fragmentation

176. Which of the following is not a connective tissue ?
—— .
(1)  Cartilage ~~
A2 Neuroglia
(3) Blood ~
(4)  Adiposetissue

177." Which of the following is a correct match for disease
adaatast

and its symptoms ? 3 T
(1) Myasthenig_gmxis - Qe:tiﬁorder

_resulting in weake\-n'y,dnd paralysis of

~ skeletal muscle
(2) Muscular dystrophy —@mmune
disorder causing progressive egeneration of

skeletal muscle
W3  Arthritis - Inflammed joints
“4) Tetany - high Ca2* level causing rapid
spasms. T o )
178.  Which of meMo@g statements with respect to
Endoplasmic Reticiium is incorrect ?
— e ——— o'
ng)’ In prokaryotes only RER are present
¢ . i
(2) SERarethe sites for lipid synthesis—"
RER has ribosomes attached to ER v
bt

©)
: }4) SER is devoid of ribosomes

179. In gene therapy of Adenosine Deaminase (ADA)
deficiency, the patientr uir iodic infysion of

&e_rﬁti_cwﬂeered lymphocytes because:

(1) Lymphocytes from patient’s blood are grown
in culture, outside the body.
A2  Genetically engineered lymphocytes are not
immortal cells. ws . ¥
(3) Retroviral vector is introduced into these
lymphocytes. .
@) Gene isolated from marrow cells producing

—

ADA is jhtroduged into cells at embryonic
S 3 :
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180. Natural selecti R
selection where more individuals acquire | 185. Which of the followin '£not t@' unh\ctio -

181.

182.

183.

184.

@

~ away from the cenfre of the palindromi

,(}f‘ /(,d?P?a‘vo, Psittacula, Corvus

specific character value other than the mean
character value, Teads to : ‘ k

(1) . Disruptive change

(20 Random change

(3)  Stabilising change
Directional change

Given below are two statements :

Statement I:

Restriction endonucleases recognise specific
sequence to cut DNA known as ‘palindromic
nucleotide sequence.

StatementII:

Restriction endonucleases cut the'DNA qtrand é little
ite.

tatements, choose the most

In the light of the above s
given below:

appropriate answer from the options
rect but Statement II is

(1) Statement I is cor
incorrect
2 Statement I is incorrect but Statement II is
correct
o3) Both Statement Iand Statement IT are correct
(4 Both Statement I and Statement II are
incorrect

‘8’ Drosophila in a laboratory population of ‘80’
week, the deathratein the pOpulaﬁon

died duringa
is : individuals per Drosophila per week.
(- 10 )
2 Zero “§ Tl ¢
@ o1
10

e following animals, digestive tract

In which of th .
has additional chambers like crop and gizzard ?

' ) O Catla, Coluntba, Crocodilus

Corvus, Columba, Chamelegn®

Bufo, Balaenoptert, Bangariis

3)
@

Identify the as
associated with P¢ ]

exual reproductive structure

413

(1) ~ Gemmules &4/~

(2) Buds Dvs -

(3)  Zoospores
Conidia

A

— e

ef

186.

)

conducting part of respiratory system ?
(1)  Temperature of inhaled air is brought to body
temperature )

Provides surface for diffusion of O,and CO»

It clears inhaled air from foreign particles
s

Inhaled air is humidified“”

(3)
)

Section - B (Biology : Zoology)

true?
h-y«./

re a pair

Which of the following statements is not

(1) gy indicates common ances

]
@)

Homolo
Flippers of penguins and dolphinsa
of homologous 0rgans X

gous structures are a result of

Analo
convergent evolution

Sweet potafo and potato is an example of

@
analogy

Which of the following are not the effects of

Parathyroid hormone ?

Stimulates the process of b

@
()  Decreases CaZ+ level in blood
() = Reabsorptionof Ca2+ by renal tubules
(d Decreases the absorption of Ca?* from
digested food
(¢)  Increases metabolism of carbohydrates
Ch{.:JOSE the most appropriate answer from the
options given below : .
(1) ge‘l')_and (e) only
(2) (b)and(c) only
2 (@and(c)only
@ (b)(d)and (e)only

188. Sel i &oatding
ect the incorrect statement regarding’synapses :
—'__’ ! - pait
V(JX Chemical synapses use neuro transmitters

() Impuls-e' transmission across a chemical
synapse is always faster than thafacrass an
electrical synapse. , _~ TR

(3) The membranes of presynaptic and

postsynaptic neurons are in close proxi ity

in an electrical synapse. -
Electrical curre ""f]§@
ean dir

neuron into e} 210
into th Iﬁ?aCIOSS the electri 1
ca

synapse.

et

“i‘.

2

one resorption v

0
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489, Match List - Twith List - IT wi 24
of Contraception ¢ iy -\.I with respect to metl
g ption and thur;:;espcctfvcﬂctim:;. 10ds 3}2/ Match List - I with List -1
: ist-1I1 . ;
(a) Diaphragms (i) Inhibit ovulation and S List-1I
Trplantatios > (Biological
(D) C:OI‘Ih“aCe} ve (i) Incf_ antation | gical Molecules)  (Biological function
Pills ease phagocytosis of (@  Glycogem i Y
(© IntraUteripk (iii sperm within Uterus () ‘ e
Deties” ii) Q:zisence of Menstrual cycle Globul Biocatalyst
ovulation following ()  Steroi
parturition o1 ) Antibody -
(d) Lactational (1v) TI (d T . y
An ey cover the cervi hrombir” i
1enorrhea blocking the ) v)  Storage product
s pennsg entry of Choose the correct answer f ;
Choose t below : rom the options give
baloars he correct answer from the options giv: : )
3 iven
B (1) (a)-(ii), (b)- (i .
M (@- (i), ()~ (), () - (), (d)- i) o @-G ), (0)- (i), (0)- i), (4)- @)
@ @~ 0)- ), ©)- (), (@) (V) - 69), (-, €)- ) () )
Q. G0 06-00.0- R e i
a) - (iv), (b) - (i), (c) - (ii 4 s 3 ’
1/9} (b)- (1) (Cw, (d)-(m) , ©) (a)af(ji)f (b) - (i), (c) - (i), (d) - (iii)
. Select the incorrect s : ;

: : ! r tatement with respect i =
acquired immunity. P to 3. WTus:h of the following is notadesirab@ ofa
(1) An . cloning vector ?

amnestic response is due to memory of first il
‘/( encounter. (1)  Presence of single restriction enzyme site
2)  Acquired immunity is non-specific type of vﬂ{ P oz l
defense present at the time of birth.~4 p a2 e =
(3) Primary response is produced when our bod (3)  Presenceoforigin of replication ;
\ encouinters a pathogen for the first timeﬁ) (4)  Presenceof amarker gen
0%)/ (4) Anamnestic response is elicited on B
subsequent encounters with the same
pathogen. »~ - 194. Ten E.coli cells with 1°N - dsDNA are ipcubatedd
@ S = medium cpntaini}lg,_l;_ nucleo;im
l/tfiht??enfs el tqhuman Insulin are given below. Il‘li.l'_ll;ltesfh many E.colt cells will have DNA totall
14 g:;l esta:;e;nenigs)ls are correct about genetically free f_l.P_E}_E/ et R ¥
eredInsulin? ) ~— : o = -
@ P _ﬁ'“‘""'_ z 2 X (1) 60 cells B g e
ro o_rmo}r}msulm contain extra stretch of "
C-peptide e (2) 80cells u e
(h)  A-peptide and B-peptide chains of insulin
Wec; = PYOS}IC%d geparately in E.coli, extracted () 20cells
and combine creating di rohi
between them. )\I/ eating disulphide bond (4) 40 cells
() Insulin used for treatin i ‘
g Diabetes was
. extracted from Cattles and Pigs. v~ - 195. Which one of the following statements is ¢ ?
(d) }’ro-hormone Insulin needs to be processed 1 Bl 3 freely fi e
or converting into a matu : ood moves freely fromatriumt i
hormone. re and functional during joint diastole. oihe ventric
(e) Some patients develo i : i
e forgign insulin_/P allergic reactions to 2 Increased ?'entricular pressure causes closin
—_— of the semilunar valves. sIG
Choose the most appropriate answer f I .
options given below : : rom the 3) The atrio-ventricular nod
: : E(AVN) enerates
(1) (and (d)only an action potential (o stimulate atria
@ (©), (d)and (¢) 0 iy contraction e atria
-(Gf (2), (b) and (d) only @4) The tricuspid and the bicuspid
due to the pressure ef;rt\r;lves open
simultaneous contraction of the Et‘riaby the

4)  (b)only




196.

197.

25

The 'recombination frequency between the genes
&cis5%,b & cis15%, b & d is9%,a&b£i;520‘ya-
c& dis 24% and a & d is 29%. What will be thoé
sequence of these genes on a linear chromosome ?

(1) a‘f bl c: (j
(2) a!’ cl b; d
3) a,db,c

(4) df bl’ a-.r c

Which of the following is a correct statement ?

(1)  Slime moulds are saprophytic organisms
classified under Kingdom Monera.

(2) Mycoplasma have DNA, Ribosome and cell
wall a ]

(3) Cyanobacteria are a group of autotrophic
organisms classified under Kingdom

Monera.

(4) Bacteria are exclusively heterotrophic

organisms.

Given below are two statements :

Statement I:

haust from the thermal plant s

In a scrubber the ex
lectric wires to charge the dust

passed through thee
particles.

Statement I :

Particulate matter (PM 2:5) can not be removed by
scrubber but can be removed by an electrostatic
S = ___-_--_-—-_ i

—

precipitator.
o .
In the light of the above ctatements, choose the most
appropriate answer from the options given below:
(1) Statement I is correct but Statement II is
incorrect
2 Statement I is incorrect but Statement II is
correct LI s .
3) Both Statement I and Statement Il are correct
L(r'd Both Statement I and Statement II are
incorrect

—_—— (ﬂ

%"’\{@‘@
£

S3

;1,99./ If a colour blind female marries a man whose mother

was also colour blind, what are the chances of her
progeny having colour blindness ?

e ¥

1  75% %
A 100% e
@ 2% K & |\ % g
@  50% %" X

Match List - I with List - I1.

List-1 List-1I
(a) Bronchioles, Dense Regular
| Connective Tissue

|
\

(b) Gobletcell (i) Loose Connective

Tissue
(c) Tendons }ﬁi) Glandular Tissue
(d) Adipose Tissue (iv) Ciliated Epithelium

Choose the correct answer from the options given

\

below :

1) (a)- (i), (b)- (i), (€) - (W), () - (iid)

@  (@- (i), (b)- (i), (©)- (i), (Q=-0)
o (@)= ()i, - 0, (@) -

@ (a)- (), (b)- (i), () - (i), (d) - ()

-00o0-




